
$$\sum_{k=1}^n a_k b_k = A_n b_n - \sum_{k=1}^{n-1} A_k (b_{k+1} - b_k),$$

$$a_k, b_k, k = \overline{1, n}, \quad A_k \stackrel{\text{def}}{=} a_1 + a_2 + \dots + a_k.$$

()

$$a_k = A_k - A_{k-1}, k = \overline{1, n}, A_0 \stackrel{\text{def}}{=} 0.$$

$(b_k)_{k=1}^n$.

_____ **1.** () .

$$b_1 \geq b_2 \geq \dots \geq b_n \geq 0, M = \max_{1 \leq k \leq n} A_k, m = \min_{1 \leq k \leq n} A_k$$

$$mb_1 \leq \sum_{k=1}^n a_k b_k \leq Mb_1$$

_____ .

$$\sum_{k=1}^n a_k b_k = A_n b_n + \sum_{k=1}^{n-1} A_k (b_k - b_{k+1})$$

$$b_n \geq 0 \quad b_k - b_{k+1} \geq 0.$$

$$mb_n \leq A_n b_n \leq Mb_n,$$

$$m(b_k - b_{k+1}) \leq A_k (b_k - b_{k+1}) \leq M(b_k - b_{k+1})$$

$$k = \overline{1, n-1} .$$

_____ **2.**

$$b_1 \geq b_2 \geq \dots \geq b_n \geq 0 \quad A_k \geq 0, k = \overline{1, n},$$

$$\sum_{k=1}^n a_k b_k \geq 0.$$

$m \geq 0$.

_____ 3. (IMO'78)

$\phi: _ \rightarrow _$

$$\sum_{k=1}^n \frac{\phi(k)}{k^2} \geq \sum_{k=1}^n \frac{1}{k}.$$

$$\sum_{k=1}^n \frac{1}{k} \left(\frac{\phi(k)}{k} - 1 \right) \geq 0. \quad (*)$$

$$c_k \stackrel{\text{def}}{=} \frac{\phi(k)}{k},$$

ϕ

$$c_1 + c_2 + \dots + c_k \geq k \sqrt[k]{c_1 c_2 \dots c_k} \geq k,$$

$$a_k \stackrel{\text{def}}{=} c_k - 1 \quad b_k \stackrel{\text{def}}{=} \frac{1}{k} \quad (*)$$

_____ 4.

$$a_1 \geq a_2 \geq \dots \geq a_n \geq 0, \quad b_1 \geq b_2 \geq \dots \geq b_n \geq 0$$

$$A_1 \geq B_1, A_2 \geq B_2, \dots, A_n \geq B_n,$$

$$B_k \stackrel{\text{def}}{=} b_1 + b_2 + \dots + b_k, \quad p$$

$$a_1^p + \dots + a_n^p \geq b_1^p + \dots + b_n^p.$$

$$(a_1^p - b_1^p) + \dots + (a_n^p - b_n^p) \geq 0.$$

$$c_k \stackrel{\text{def}}{=} a_k - b_k \quad d_k = a_k^{p-1} + a_k^{p-2} b_k + \dots + a_k b_k^{p-1} + b_k^{p-1}$$

$$, a_k^p - b_k^p = c_k d_k$$

$$C_k \geq 0 \quad d_1 \geq d_2 \geq \dots \geq d_n \geq 0.$$

_____ 5. $a_1, a_2, \dots, a_n \geq 0 \quad b_1 \geq b_2 \geq \dots \geq b_n > 0$

$$a_1 a_2 \dots a_k \geq b_1 b_2 \dots b_k \quad k = \overline{1, n}.$$

$$A_n \geq B_n.$$

$$A_n - B_n = \left(\frac{a_1}{b_1} - 1\right)b_1 + \dots + \left(\frac{a_n}{b_n} - 1\right)b_n$$

$$\frac{a_1}{b_1} + \dots + \frac{a_k}{b_k} \geq k \sqrt[k]{\frac{a_1 \dots a_n}{b_1 \dots b_n}} \geq k,$$

$$\left(\frac{a_1}{b_1} - 1\right) + \dots + \left(\frac{a_k}{b_k} - 1\right) \geq 0.$$

2

_____ **6.** $a_1, \dots, a_n, b_1, \dots, b_n > 0$ $A_k \geq B_k$ $k = \overline{1, n}$
 $a_1 b_1 \leq a_2 b_2 \leq \dots \leq a_n b_n.$

$$\frac{1}{a_1} + \frac{1}{a_2} + \dots + \frac{1}{a_n} \leq \frac{1}{b_1} + \frac{1}{b_2} + \dots + \frac{1}{b_n}.$$

_____.

$$\sum_{k=1}^n \left(\frac{1}{b_k} - \frac{1}{a_k}\right) = \sum_{k=1}^n (a_k - b_k) \frac{1}{a_k b_k},$$

2.

_____ **7.** $a_1, a_2, \dots, a_n \geq 0$ $b_1 \geq b_2 \geq \dots \geq b_n \geq 0$
 $A_k \geq B_k$ $k = \overline{1, n}.$

$$a_1^2 + \dots + a_n^2 \geq b_1^2 + \dots + b_n^2.$$

_____.

$$\begin{aligned} a_1 b_1 + a_2 b_2 + \dots + a_n b_n &= A_1(b_1 - b_2) + A_2(b_2 - b_3) + \dots + A_n b_n \\ &\geq B_1(b_1 - b_2) + B_2(b_2 - b_3) + \dots + B_n b_n \\ &= b_1^2 + b_2^2 + \dots + b_n^2 \end{aligned}$$

$$(a_1^2 + \dots + a_n^2)(b_1^2 + \dots + b_n^2) \geq (a_1 b_1 + \dots + a_n b_n)^2 \geq (b_1^2 + \dots + b_n^2)^2$$

_____ **8.** $(a_n)_{n=1}^\infty$. . .

$$n \sum_{k=1}^n a_k \geq \sqrt{n}.$$

$$\sum_{k=1}^n a_k^2 \geq \frac{1}{4} \left(1 + \frac{1}{2} + \dots + \frac{1}{n}\right).$$

$$b_n \stackrel{\text{def}}{=} \sqrt{n} - \sqrt{n-1}$$

$$b_n \geq \frac{1}{2\sqrt{n}}$$

9. $a_1, a_2, \dots, a_n \geq 0 \quad 0 < b_1 \leq b_2 \leq \dots \leq b_n$
 $A_k \leq B_k \quad k = \overline{1, n}.$

$$\sqrt{a_1} + \dots + \sqrt{a_n} \leq \sqrt{b_1} + \dots + \sqrt{b_n}.$$

$$\frac{a_1}{\sqrt{b_1}} + \dots + \frac{a_n}{\sqrt{b_n}} \leq \sqrt{b_1} + \dots + \sqrt{b_n}.$$

$$\begin{aligned} & A_1 \left(\frac{1}{\sqrt{b_1}} - \frac{1}{\sqrt{b_2}} \right) + A_2 \left(\frac{1}{\sqrt{b_2}} - \frac{1}{\sqrt{b_3}} \right) + \dots + A_n \frac{1}{\sqrt{b_n}} \leq \\ & \leq B_1 \left(\frac{1}{\sqrt{b_1}} - \frac{1}{\sqrt{b_2}} \right) + B_2 \left(\frac{1}{\sqrt{b_2}} - \frac{1}{\sqrt{b_3}} \right) + \dots + B_n \frac{1}{\sqrt{b_n}} \end{aligned}$$

$$(\sqrt{a_1} + \dots + \sqrt{a_n})^2 = \left(\sum_{k=1}^n \sqrt[4]{b_k} \sqrt{\frac{a_k}{\sqrt{b_k}}} \right)^2 \leq \left(\sum_{k=1}^n \sqrt{b_k} \right) \left(\sum_{k=1}^n \frac{a_k}{\sqrt{b_k}} \right) \leq (\sqrt{b_1} + \dots + \sqrt{b_n})^2$$

10. $a_1, a_2, \dots, a_n > 0 \quad a_1 a_2 \dots a_k \geq \frac{1}{(2k)!}, \quad k = \overline{1, n}.$

$$a_1 + \dots + a_n \geq \frac{1}{n+1} + \dots + \frac{1}{2n}.$$

$$\begin{aligned} \sum_{k=1}^n a_k &= \sum_{k=1}^n \left(\frac{1}{2k-1} - \frac{1}{2k} \right) (2k-1 \cdot 2k \cdot a_k) \\ &= \left(1 - \frac{1}{2} - \frac{1}{3} + \frac{1}{4} \right) (1 \cdot 2 \cdot a_1) + \\ &+ \left(\frac{1}{3} - \frac{1}{4} - \frac{1}{5} + \frac{1}{6} \right) (1 \cdot 2 \cdot a_1 + 3 \cdot 4 \cdot a_2) + \\ &\dots \dots \dots \\ &+ \left(\frac{1}{2n-1} - \frac{1}{2n} \right) (1 \cdot 2 \cdot a_1 + \dots + 2n-1 \cdot 2n \cdot a_n) \end{aligned}$$

$$1 \cdot 2 \cdot a_1 + \dots + \overline{2k-1} \cdot \overline{2k} \cdot a_k \geq k,$$

$$\begin{aligned} \sum_{k=1}^n a_k &\geq \frac{1}{1} - \frac{1}{2} + \frac{1}{3} - \dots + \frac{1}{2n-1} - \frac{1}{2n} \\ &= \left(1 + \frac{1}{2} + \dots + \frac{1}{2n}\right) - 2 \cdot \left(\frac{1}{2} + \frac{1}{4} + \dots + \frac{1}{2n}\right) \\ &= \frac{1}{n+1} + \dots + \frac{1}{2n} \end{aligned}$$

_____ 11. (BMO'08) $(a_n)_{n=1}^{\infty}$

$$\sum_{k=1}^n \frac{1}{a_k} \leq 2008 \quad ?$$

_____ $(a_n)_{n=1}^{\infty}$

$$\sum_{k=1}^n \frac{a_k}{k^2}$$

$$\begin{aligned} \sum_{k=1}^n \frac{a_k}{k^2} &= \sum_{k=1}^{n-1} A_k \left(\frac{1}{k^2} - \frac{1}{(k+1)^2} \right) + A_n \frac{1}{n^2} \\ &\leq \sum_{k=1}^{n-1} k^2 \left(\frac{1}{k^2} - \frac{1}{(k+1)^2} \right) + 1 = \sum_{k=1}^{n-1} \frac{\overline{k+1+k}}{(k+1)^2} + 1 \leq \\ &\leq 2 \sum_{k=1}^{n-1} \frac{1}{k+1} + 1 = 2H_n - 1 \end{aligned}$$

$$H_n \stackrel{def}{=} 1 + \frac{1}{2} + \dots + \frac{1}{n}$$

... n-

$$\sum_{k=1}^n y_k^2 \geq \frac{\left(\sum_{k=1}^n x_k y_k \right)^2}{\sum_{k=1}^n x_k^2},$$

$$- \quad , \quad x_k = \frac{\sqrt{a_k}}{k} \quad y_k = \frac{1}{\sqrt{a_k}}$$

$$\sum_{k=1}^n \frac{1}{a_k} \geq \frac{(\sum_{k=1}^n \frac{1}{k})^2}{\sum_{k=1}^n \frac{a_k}{k^2}} \geq \frac{H_n^2}{2H_n - 1} \geq \frac{H_n}{2} .$$

$$H_n \rightarrow \infty , \quad n \rightarrow \infty .$$